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» Application of Quadratic and Linear Inequalities g

’/?achTar the ‘Rock the Vote’ committee organizes a public rally. ',
msed on previous years, the organizers decided that the income from ¢
ticket sales, I(t), is related to ticket price (t) by the equation &
I(t) = —40t2 + 400¢t. Cost, C(t), of operating the public event is
also related to ticket price (t) by the equation C(t) = —40t + 400.

4
¢

A) What ticket price would generate the maximum income? Where is
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B) For what ticket price would the operating cost be equal to the income from ticket sales?

g 15 WCERE OV gy iy priek - foo ¢

p—t—t—1"1
meme? Pt

this shown on the graphs:
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greater than the income from ticket sales.

D) Write and solve an inequality to show where the in
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"..';' t) Write and solve an inequality to show where the operating cost is
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come from ticket sales is greater than the operating cost.
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